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° FYT Fig F T fF 3T geT-vA § FRT gO 16 T
J97 25(11+7+7) &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
25(11+7+7) questions.

o 797-97 H Flfe7 & # S /7 17 FE T T G FH
B F-Yiael % J&g-95 §T [7d)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YT J97 F FIV [i@T §&@ #I7 d el JIT B FHEH
T [7g)

Before beginning to answer a question, its Serial
Number must be written.
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o FTT-gikTEr # &5 7 @l o/ 9 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaEl # SaRF FE o e T& Hah o
STPTEAGEr & g it frar e 7 #e)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the uwritten
answer.

o GRS ST T Fo HIT-UF q¢ 9T [or@)
Candidates must write their Roll Number on the
question paper.

® YUY Jo5] 1 FT &7 & {4 I8 GARET T T B 997-97
g7 q 78 & YO % Iy 34 T § #HE A @
&I TE [T TEm

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
() ¥8 997-9F T 9 7 e & -
9T - & : STAHE] TEIT TF @EaTeT G
T - § : B @7 §F [T QR ET ey
9T - T FGIHT AG7]

(i) T - S Sffard &1 qErE o7y seBT @ 4T - §
T T - T 7 7 FE F T ET B
(iii) TH F97 BT BN 81 HAF HIT B F GG WHT
TR T 8
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(iv) F97T GEr 1@ 6 d 12 @7 13 % 7 15 & 20
=t 7 fod qor 397 ger 7 @ 10 714 @ 16
F FIT 40 @50 g7 F fg@)

(v) 797 G&gr 11, 17 77 18 ¥ of<ii% 8¢ FYoree]

&1
General Instructions :

(i) This question paper is divided into three
Parts :

Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have
to attempt any one part from Part — B and
Part - C of their choice.

(iii) All questions are to be attempted. Marks of
each question are indicated against it.

(iv) Give answer Question Nos. 1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7 to
10 and 14 to 16 in 40 to SO words.

(v) Internal choice is available in Question Nos.
11, 17 and 18.

T - A
PART - A
(ST HeEE Td e @)
(Not for Profit Organizations & Partnership Accounts)
1. STCTERTd € | o 1 §9eld & 7 1

What do you mean by Not for Profit Organization ?
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2. WEERI & ‘O @ @ § 7 1

What are partners' 'Current Accounts' ?

3. W, TV, WART AN B 3:2:1:4 % Jud A
fefod #Xd g ©F wH § ERRR B T W W wH 4@
QAGT B & A Sb AT B foedl B Sr aAr T 9
M A F o foram
‘O T T FH T A AR Bl T IO 1
'A', 'B', 'C' and 'D' are partners in a firm. Their
profit sharing ratiowas 3 : 2 :1 : 4. 'B' and 'C'
decide to retire from the firm. Their share of
profits are taken-over by 'A' and 'D' equally.

Calculate new profit sharing ratio of 'A" and 'D'.

4. S0 & T B TET B B GOl Ry & o
T 1

Describe the 'capitalization method' to calculate
the value of goodwill.

5. Wi YU g T U H HiE 0% A< fraw

Give any one difference between Gaining Ratio
and Sacrificing Ratio.

6. TEE BH & TG | F o7 B 7 1
What is meant by dissolution of partnership
firm ?
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7. 31 HE, 2018 & GG a9 H Ui & P @l 36

TR © -
bk 4 T 4
Y S T T 1,30,000 | fmar (Ram 11
T TS &) | 88,000
2016-17 15,000 CiLai] 1,500
2017-18 2,70,000 aa 1,32,000
2018-19 5,000 | 2,90,000 | R GI& 30,000
STSTa Feerdl &b 12,500 | I 3E & SET @0 | 1,95,000
fafam | = 14,000
4,46,500 4,46,500
Fr=T geeell @ &M § t@d gC 31 M, 2018 &

T q¥ 1 TF-49 @Al JaN P

@)
(i)

g 31 ¥, 2018 H 7,000 T |
(i) €I w9 B U 1 TWE, 2018 & A mm
Following is the Receipts and Payments Account
for the year ended 31st March, 2018 :

4

31 T/, 2018 & 28,000 T Tl THMET 1|
31 AME, 2017 & @I & €id 2,500 T o

Receipts 4 Payments 4
To Balance B/d 1,30,000 | By Rent (paid for
To Subscriptions : 11 months) 88,000
2016-17 15,000 By Insurance 1,500
2017-18 2,70,000 By Salaries 1,32,000
2018-19 5,000 | 2,90,000 | By Stationery
To Life time member's purchased 30,000
fees 12,500 | By Balance C/d 1,95,000
To Interest on
Investment 14,000
4,46,500 4,46,500
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Prepare Income and Expenditure Account
for the year ended 31st March, 2018 after
considering the following informations :

(i) Subscriptions in arrear on 31st March,
2018 was X 28,000.

(ii) Stock of stationery on 31st March, 2017
was ¥ 2,500 and on 31st March, 2018 was
% 7,000.

(iii) Insurance was paid on 1st January 2018 to
run for one year.

8. T AR WM 3 : 2 % FJIM & a4 ded g Th B 7
HERR &1 el dag 7 e e g

M ® 30,000 T G aep fam SRRM qen @i
& da- 1,000 T Ui A€ B

SUIFd TGl Hl AR 6 &6 o @ s
&Y forar T

TEES THEING fdfte i 4

Ram and Rahim are partners in a firm sharing
profits in the ratio of 3 : 2. The partnership deed
provided for the following :

¥ 30,000 per annum salary to Ram and
salary ¥ 1,000 per month to Rahim.

The profit was divided without providing for
the above.

Pass necessary Adjustment Entry.
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9. O, AR W2:2:1 % U § AW dfed W &
BH § HEER &1 31 A, 2018 & ‘e H TG & S
Bl 9% a¥ @M 31 REEX @ g% R S| g ad
2017 @ [ 6,00,000 ¥ & @1 1 S9ad, 2018 4
31 ¥, 2018 T& f¥=hl 2,00,000 % 31 ¥ 2017 &
&9 30,000 % &I
I 9 & 9 H gk qEER ® 9N Bl TOFT B 4
'A', 'B' and 'C' are partners in a firm sharing
profits in the ratio of 2 : 2 : 1. 'A' dies on 31st
March, 2018. Accounts are closed on 3lst
December every year. Sales for the year 2017
amounted ¥ 6,00,000 and sales from 1st
January, 2018 to 31st March, 2018 amounted X
2,00,000. The profit for the year 2017 amounted
% 30,000.

Calculate the deceased partner's share in
the current year profits.

10. ‘TR’ X GR’ 3 : 2 B OTUE ¥ @ died T Th BH
¥ oEER 81 1 P, 2018 & wH @ gEw § e
T T R
() |RE @ gl 3,00,000
(i) WVERI B 5% "IN & & PR 4,750
(iii) "W =T 10,000 2|
(ivy $ : ‘=R @ 1,50,000 T AR ‘aR &

1,25,000 |
(v) &% FT 5,000 3
(vi) -8 (fde) 2,500 R
SR el | agal Tl JaR S 4
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'X' and 'Y' are partners in a firm sharing profits
in the ratio of 3 : 2. The book of the firm
provides the following informations on 1st April
2018:

(i) Assets realized X 3,00,000.

(ii) Creditors were paid ¥ 4,750 after deducting
5%.

(iii General Reserve ¥ 10,000.

(iv) Capital : 'X'¥ 1,50,000 and 'Y's ¥ 1,25,000.
(v) Bank Loan ¥ 5,000.

(vij P&LA/c(Dr.) X 2,500.

Prepare Realisation Account from the above
informations.

11. ‘TR, ‘a8’ oM O’ Th BH H 5 : 3 : 2 & U |
N ey gU HERR 21 31 REer, 2017 & S’ wH
T STgH TeU HAAT 3| STTHN TS H @ [y @,
Y P Ry fGarer 39 g R ¢
FIEIRET 4 aRar 4

AER 12,500 | ¥% 16,000
qei~R IR EREALY 4,000
% T TS | 11,500 | 92/ SENH (-)100 | 3,900
Tof wTE 4,200
‘T’ 25,400 HHTER 17,500
‘9’ 18,000 CGICICER] 40,000
‘e’ 14,200 | 57,600

81,600 81,600
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‘e’ % B TR ga
() 9H a9 @ 5% § ST & T HHER I8
20% BT T

(i) FON W AENH 5% T IAWT & qA Aeq¥D
@ F 12,000 ¥ TF T 2

(i) ®H B BT B FeEET 12,000 I B T

JTFT @, "R’ & gSi @ g Haﬁﬁﬁ
Refar foaRer TR Fifw)
X', 'Y' and 'Z' were partners in a firm sharmg
profits in the ratio of 5 : 3 : 2. On 3lst
December, 2017 'Z' retired from the firm. On the
date of retirement the Balance Sheet of the firm
was as follows :

Liabilities 4 Assets T
Creditors 12,500 | Bank 16,000
Provision for Debtors 4,000
legal claims 11,500 | Less : Provision ()100 3,900
Capital : Stock 4,200

X' 25,400 Furniture 17,500
Y' 18,000 Land & Building 40,000
'Z' 14,200 | 57,600

81,600 81,600

On 'Z's retirement it was agreed :

(i) Land & Building will be appreciated by 5%
and furniture will be depreciated by 20%.

(i) Provision on Debtors will be made at 5% on
Debtors and provision for Legal Claims will
be made ¥ 12,000.

4308/(Set : D) P.T.O.



(10) 4308/(Set : D)

(iii) Goodwill of the firm was valued at ¥ 12,000.

Prepare Revaluation Account, Partners'
Capital Account and Revised Balance Sheet.

FgaT

OR
WM U AR AN U | 9 1 I & ¢ 3
a:ﬁﬁww%? 2, 2,4

What do you mean by Sacrificing Ratio and
Gaining Ratio ? What is the difference between
two ?

qT - 9
PART - B
(ot @a e o faaRet @ R

(Company Accounts & Analysis of Financial Statements)

12,

13.

14.

ferfig feeRor fasciyer & ‘oo’ | o9 @ qWEd § 7 1

What do you mean by 'tools' of Analysis of
Financial Statement ?

forci foavont & fascser & #E & 9 fafew 1

Explain any two limitations of Analysis of
Financial Statement.

TR A 3 ¢ 1 8 qU A FIAW 2 ¢ 1 Bl AR A
WWWWWW24000?%®

I, Tl SiR A AR B O i 4

Current Ratio is 3 : 1 and Liquid Ratiois 2 : 1. If
the excess of current assets over liquid assets
are ¥ 24,000, then calculate Current Assets &
Current Liabilities.
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Ahe YaE e & el e a™l & v S 4

Mention any four merits of Cash Flow

Statement.

T i ffee e M 9eM & ©

1-4-2017 | 31-3-2018

usil rufeied g (W.D.V.) | 35,000 | 35,000 3

q¥ & A UF A0 e I g 25,000 I
dt &R e Hfd s@ 15,000 2 &, @ 13,000 T H
a9 & T = 99 # EE 25,000 % B
S el ¥ Haw fhaeddl § ke aE @l
O T 4

Rama Print Limited provides the {following

information :

1-4-2017 31-3-2018

Machinery (W.D.V) % 35,000 % 35,000

During the year, a machine costing *
25,000 & accumulated depreciation on it was X
15,000, was sold for ¥ 13,000 current year
depreciation is ¥ 25,000.

From the above informations prepare Cash

Flow Statement from investing activities.
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17. & fqfes 3 100 % 9% & 20,000 HA H 10 T
gfer st dfem @ FRifE fem ai 58 @R 3 ©

HEET W 25 3; e W 35 X (Al |fed) g
Y TR JeA g AT =T W

aell ofell &1 APEM o g SR F¥ 7 |+l
3 TR, 200 Sfslt W aMEed o) @ WA & SR
oI B I Sfell H S FX form w8 80 X AA®
% Qoied S § AR fRear mm

T B GEEH W TEE e Sfaftedt
it 8
'B' Limited offers 20,000 shares of ¥ 100 each at
premium of ¥ 10 per share to the public. The
amount is payable as follows :

On Application ¥ 25; On Allotment ¥ 35
(including premium) and rest on First & Final
Call.

All shares are subscribed. Company
received all money except allotment and first &
final call money on 200 shares. These shares
were forfeited and re-issued fully paid up at ¥ 80
each.

Pass necessary Journal Entries in the
books of the company.

YT

OR
(37) prEm AT qEn SIRM A (Sief W) & i
JIEel B O HIOTT T 399 T ST

yfafteat « frfea) 4
(@) ol &1 IR W AT @ Tt @& aEee
%?Wzﬁﬁm 4
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(@) Mention the provisions and also give
journal entries relating call in arrear and
call in advance.

(b) What are the provision regarding issue of
shares at premium ? Explain.

18. =1 qmetl ¥ worEt & i & g9y ufafe #ifw @ 8

(i 15,000, 12% *0F J&% 10 T &
ﬁ‘fﬁﬁm‘m,%ﬁﬁr!ﬁﬂﬂ S%WWW
ST

(i) 20,000, 7% O T&H 50 T H TART W
Frifg fq @, S sied q9ge W fen
ST

(i) 12,500, 8% 9 J&% 10 T H 3% A W
frift fhe T, R stem 2% 0t w6
ST

(iv) 4,000, 9% FOH T&F 100 T H 4% Feril W
frifta fhT T, R stes 6% diftmm w fear
STRATI

Pass journal entries at the time of issue of

Debentures in the following cases :

(i) Issued 15,000, 12% debentures of ¥ 10
each at par, redeemable at a premium of
5%.

(ii) Issued 20,000, 7% debentures of ¥ 50 each
at par and redeemable at par.

(iii) Issued 12,500, 8% debentures of ¥ 10 each
at a premium of 3% and redeemable at a
premium of 2%.
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(iv) Issued 4,000, 9% debentures of ¥ 100 each
at 4% discount and redeemable at a
premium of 6%.

CRC|

OR
(31) e & iR Ufied W FO@EN & R @
SRE R 4
(@) o IR T F d= R [T 4

(a) Explain the issue of debentures other than
cash consideration.

(b) Write difference between share and
debenture.

AT -9
PART - C
(Fgelpa aEis)

(Computerized Accounting)

12. FYIRA AT IO Hl HiE 0% Aqwan e 1

Write any one feature of Computerized

Accounting System.

13. ‘SN se%a § oY F1 g99d ¢ 1
What do you mean by 'Database Interface' ?
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15.

16.

17.

(15) 4308/(Set : D)

FHYCGA AGHT GO B AT @ih O
UE B Y N A& 4

Give any four advantages of Computerized

Accounting System over Manual Accounting
System.

‘GUI (Mt ToR 3eX%8) W T diera fewelt ffaw) 4

Write a short note on 'GUI (Graphical User

Interface)'.

STeTed F& JOTell & STENT & & ¢ 4
What are the uses of Database Management
System ?

(i) foste, @ (i) feoiea o H @M & W & gk @
qui o1 8

Describe the procedure for creating Form
(i) wizard, and (ii) design view.

YT

OR
feste o fofyr @ T wo-TE # BA® FQ B AR
TR BT AU I 8

Describe various steps the design view method
to create a Query in MS-Access.
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18. 1 # orx HIfvTT :

(31) a@g® T @il
(@) &« Rwid 9 g Ao

Differentiate between the following :

(a) Workbook and Worksheet.

(b) Cell reference and Circular reference.
AYAT
OR

=t ox e feoel ferfer

(a1) =Rt Eredic @ fdvand

(@) g Desic & 3w

Write short notes on the following :
(a) Features of Electronic Spreadsheet.

(b) Applications of Electronic Spreadsheet.
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